Money problems

1. The price of 4 cups is £40, find the price of 8 cups:

The price of 1 shirt is: __—The price of 8 cups Is:

2. The price of 4 toys is £16, find the price of 9 toys:
The price of 1 toy is. — The price of 9 toys Is:

3. The price of 3 bags is £18, find the price of 15 bags:
The price of 1 bag Is —The price of 15 bags Is:

4. The price of 5 shirts is £35, find the price of 8 shirts:
The price of 1 shirt is. — The price of 8 shirts Is:

5. The price of 8 pens is £48, find the price of 12 pens:

The price of 1 pen Is: — The price of 12 pens Is:

6. The price of 6 hats is £36, find the price of 9 hats:
The price of 1 hat is: — The price of 9 hats is:

7. The price of 4 sweets is 28p, find the price of 9 sweets:

The price of 1 sweet Is. — The price of 9 sweets Is:

8. The price of 6 phone sets is £54, find the price of 5 sets:

The price of 1 set is. — The price of  sets is:

9. The price of 7 books is £35, find the price of 11 books:

The price of 1 book is: — The price of 9 books Is:

10. The price of 4 fans is £32, find the price of 6 fans:

The price of 1 fan is: — The price of 7 fans Is..
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» The price of each shirt is £5, how many shirts can you buy with:

Divide the number by 5 and get the answers.

1. £40 = 2. £55 =

3. £90 = 4. £135 =
5. £225 = 6. £400 =
7. £835 = 8. £630 =

» The price of each book is £3, how many books can you buy
with:

Divide the number by 3 and get the answer.

1. £21 = 2. £36 =
3. £45 = 4. £57 =
5. £123 = 6. £207 =
7. £240 = 3. £402 =
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